



St. Louis County, Minnesota

Date of Report: 5/12/2025 6:52:57 PM

**General Details** 

 Parcel ID:
 415-0010-04220

 Document:
 Torrens - 1069820.0

**Document Date:** 06/29/2023

Legal Description Details

Plat Name: LAKEWOOD

Section Township Range Lot Block

16 51 13

**Description:** E 2/3 OF E 1/2 EX N1/2

**Taxpayer Details** 

Taxpayer NameRONINGEN CHRIS H & JUDY Land Address:5351 LESTER RIVER RD

DULUTH MN 55804

**Owner Details** 

Owner Name RONINGEN CHRIS H
Owner Name RONINGEN JUDY L

Payable 2025 Tax Summary

2025 - Net Tax \$6,607.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$6,636.00

**Current Tax Due (as of 5/11/2025)** 

Due May 15		Due November 15		Total Due		
2025 - 1st Half Tax	\$3,318.00	2025 - 2nd Half Tax	\$3,318.00	2025 - 1st Half Tax Due	\$3,318.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$3,318.00	
2025 - 1st Half Due	\$3,318.00	2025 - 2nd Half Due	\$3,318.00	2025 - Total Due	\$6,636.00	

**Parcel Details** 

**Property Address:** 5351 LESTER RIVER RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: RONINGEN, CHRIS H & JUDY L

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
101	1 - Owner Homestead (100.00% total)	\$179,100	\$521,200	\$700,300	\$105,400	\$0	-			
121	1 - Owner Homestead (100.00% total)	\$72,500	\$0	\$72,500	\$0	\$0	-			
	Total:	\$251,600	\$521,200	\$772,800	\$105,400	\$0	6419			





St. Louis County, Minnesota

Date of Report: 5/12/2025 6:52:57 PM

**Land Details** 

Deeded Acres: 106.64

Waterfront:

Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

M - MOUND Sewer Code & Desc:

Lot Width: 0.00

ot Depth:	0.00						
The dimensions shown are n	ot guaranteed to be s	survey quality.	Additional lot	information can be	e found at ions, please email PropertyTa	v@ctlouiccountymp.gov	
ittps://apps.stiouiscountymin.	.gov/webFlatsiffaffie/i	<u> </u>		nils (RESIDEN		x@stiouiscouritymin.gov.	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish Style Code 8		
HOUSE	2007	2,16	60	2,835	AVG Quality / 2160 Ft <sup>2</sup>	LOG - LOG	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	12	30	360	WALKOUT BASEMENT		
BAS	1	30	30	900	WALKOUT BAS	EMENT	
BAS	1.7	30	30	900	BASEMEN	NT	
OP	1	7	30	210	PIERS AND FO	OTINGS	
OP	1	8	14	112	PIERS AND FO	OTINGS	
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC	
2.5 BATHS	3 BEDROOM	MS	-		- (	CENTRAL, ELECTRIC	
		Improveme	ent 2 Deta	ils (CONTAIN	ER)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1995	16	0	160	-	-	
Segment	Story	Width	Length	Area	Foundation	on	
BAS	1	8	20	160	POST ON GR	OUND	
		Improveme	ent 3 Deta	ils (CONTAIN	ER)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1985	32	0	320	-		
Segment	Story	Width	Length	Area	Foundation	on	
BAS	1	8	40	320	POST ON GR	OUND	
		Improveme	ent 4 Deta	ils (GRAY SH	ED)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code		
STORAGE BUILDING	1945	16	0	160	-	-	
Segment	Story	Width	Length	Area	Foundation	on	
BAS	1	10	16	160	POST ON GR	OUND	
		Improven	nent 5 Det	tails (6X8 SHE	ED)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1978	48	3	48	-	-	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	6	8	48	POST ON GROUND		





St. Louis County, Minnesota

Date of Report: 5/12/2025 6:52:57 PM

		Improver	nent 6 Details	(OLD BUS)				
Improvement Type	e Year Built	Main Flo	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish			Styl	Style Code & Desc.	
STORAGE BUILDIN	IG 0	25	256 256				-	
Segment Sto		y Width	Length	Area	Founda	Foundation		
BAS 1		8	32	256	POST ON C	POST ON GROUND		
		Improve	ment 7 Details	(OLD MH)				
Improvement Type Year Built		Main Flo	Main Floor Ft <sup>2</sup> Gross Area F		Ft <sup>2</sup> Basement Finish		Style Code & Desc.	
STORAGE BUILDIN	IG 0	79	2	792				
Segmen		•	J		Foundation			
BAS	1	12	66	792	POST ON C	GROUND		
		Sales Reported	to the St. Lou	is County Audito	or			
No Sales informat	tion reported.							
	·	Δ	ssessment His	story				
	Class	Α.		stor y	Def	Def		
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
2024 Payable 2025	101	\$179,100	\$513,300	\$692,400	\$102,500	\$0	-	
	121	\$72,500	\$0	\$72,500	\$0	\$0	-	
	Total	\$251,600	\$513,300	\$764,900	\$102,500	\$0	6,307.00	
	101	\$179,100	\$509,100	\$688,200	\$89,400	\$0	-	
2023 Payable 2024	121	\$72,500	\$0	\$72,500	\$0	\$0	-	
	Total	\$251,600	\$509,100	\$760,700	\$89,400	\$0	6,189.00	
	101	\$198,800	\$509,100	\$707,900	\$158,600	\$0	-	
2022 Payable 2023	121	\$40,800	\$0	\$40,800	\$0	\$0	-	
1 1,1111 2,111	Tota	\$239,600	\$509,100	\$748,700	\$158,600	\$0	6,750.00	
2021 Payable 2022	101	\$248,800	\$451,100	\$699,900	\$0	\$0	-	
	121	\$65,600	\$0	\$65,600	\$0	\$0	-	
	Tota	\$314,400	\$451,100	\$765,500	\$0	\$0	6,694.00	
		٦	ax Detail Hist	ory				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land M	Taxable Buil V MV		Total Taxable MV	
2024	\$6,383.00	\$25.00	\$6,408.00	\$161,900			\$671,000	
2023	\$7,489.00	\$25.00	\$7,514.00	\$199,400	\$509,10	0	\$708,500	
2022	\$8,109.00	\$25.00	\$8,134.00	\$314,400	14,400 \$451,10		\$765,500	





St. Louis County, Minnesota

Date of Report: 5/12/2025 6:52:57 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.